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I. Sample test paper

SJTU International Undergraduate Entrance Examination (English)

Part 1 Listening Comprehension (20 minutes)

In this part, you will hear two audios and watch two videos. You will answer six or
seven questions based on each audio or video. For each question, you should choose
the best answer from the four choices marked A, B, C and D. All the audios and videos
will be played only once. The listening part lasts about 20 minutes.

Section A Audio Comprehension

Directions: In this section, you will hear two audios. You will answer six questions
based on each audio. For each question, you must choose the best answer from the four
choices marked A, B, C and D. The audios will be played only once. You can answer
the questions as you listen to the audios.

Recording 1

The time you spend in high school and college can be both fun and rewarding.
These can also be some of the busiest years of your life.

Balancing all the demands on your time — a full course load, extracurricular
activities, and socializing with friends — can be challenging. With so many competing
priorities, sacrificing sleep may feel like the only way to get everything done. But
regularly short-changing yourself on quality sleep can have serious implications for
school, work, and your physical and mental health.

Alternatively, prioritizing a regular sleep schedule can make these years healthier,
less stressful, and more successful long-term.

According to the National Sleep Foundation, high school students (ages 14-17)
need about eight to ten hours of sleep each night. For young adults (ages 18 to 25), the
range is between seven and nine hours.

How do you know how much sleep you need within this range?

According to Dr. Edward Pace-Schott, a sleep expert, you can answer that question
simply by observing how much you sleep when you don’t need to get up. “When you’ve
been on vacation for two weeks, how are you sleeping during that second week? If
you’re sleeping eight or nine hours when you don’t have any reason to get up, then
chances are you need that amount or close to that amount of sleep,” says Pace-Schott.

Most students, however, get far less sleep than the recommended amount. Seventy
to ninety-six percent of college students get less than eight hours of sleep each
weeknight. And over half of them sleep less than seven hours per night. The numbers
are similar for high school students; seventy-three percent of high school students get
between seven and seven and a half hours of sleep.

And what about those students who say they function perfectly well on just a
couple of hours of sleep? “There’re very few individuals who are so-called short
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sleepers, people who really don’t need more than six hours of sleep. But, there’re a lot
more people who claim to be short sleepers than there’re real short sleepers,” says Pace-
Schott.

The consequences of sleep deprivation are fairly well established but may still be
surprising. Studies have shown that sleep deprivation can create the same level of
cognitive impairment as drinking alcohol. And according to research by American
Academy of Sleep Medicine, drowsy driving causes an average of 328,000 motor
vehicle accidents each year in the US. Drivers who sleep less than five hours per night
are more than five times as likely to have a crash as drivers who sleep for seven hours
or more.

Over the long term, chronic sleep deprivation can have a serious impact on your
physical and mental health. Insufficient sleep has been linked, for example, to weight
gain and obesity. And numerous studies have demonstrated a connection between sleep
deprivation and mental health disorders such as anxiety and depression.

Questions

1. How much sleep does a high school student need according to the National Sleep
Foundation?

About 7-8 hours.

About 6-8 hours.

About 6-7 hours.

About 8-10 hours.

oCawpy

2. How do we know the amount of sleep we need according to Dr. Edward Pace-Schott?
By seeking advice from well-known sleep experts.

By checking the average amount people our age get.

By looking at the amount recommended by health organizations.

By observing how much we sleep when we don’t have to get up.

oCawpy

3. What do we learn from the passage about college students?
Most of them sleep less than when they were in high school.
More than half of them sleep less than seven hours.

Almost all of them sleep about eight hours.

Many of them have serious sleep problems.

oSawpy

4. What does Dr. Edward Pace-Schott say about short sleepers?
Their mental health is under-researched.

They usually suffer from sleep disorders.

They normally sleep no more than six hours.

Their number is greater than generally believed.

oSawpy

5. What does the passage say about sleep deprivation?
A. It can do more harm than alcohol consumption.
B. It can lead to serious psychological problems.



C. It proves to be the cause of most car accidents.
D. It contributes to weight loss over the long term.

6. What is the passage mainly about?

The major causes of high school and college students’ sleep loss.

Ways to improve high school and college students’ quality of sleep.

The importance of sufficient sleep for high school and college students.

Tips for high school and college students on how to develop good sleep habits.

oSawy

Recording 2
Receptionist: University Language Center. How may I help you?

Caller: Yes. I'm calling to find out more information about your program. For example,
what kind of courses do you offer?

Receptionist: Well, first of all, the purpose of our program is to provide Chinese
learning opportunities to those who hope to master basic functional language skills,
let’s say, for their job, or to learn Chinese intensively to enter a Chinese college or
university.

Caller: Okay. I’'m calling for a friend who is interested in attending a Chinese university.

Receptionist: And that’s the kind of, uh, instruction we provide, from basic language
courses to content-based classes such as Chinese culture and Chinese for business
purposes.

Caller: Great. What’s your application deadline for the next semester?

Receptionist: Well, we ask applicants to apply no later than two months before the
semester begins. [Uh-hum] This gives us time to process the application and issue the
student’s admission form.

Caller: An admission form?

Receptionist: Oh, an admission form indicates that we are giving permission for the
student to study in our program, and then the student takes this form to the Chinese
embassy in their country to apply for the student visa.

Caller: Alright. What’s the tuition for a full-time student?
Receptionist: 1t’s 14,000 Yuan, about two thousand US dollars.
Caller: And how does one apply?

Receptionist: Well, we can send you an application and you can mail it back to us, or
you can fill out our application online at our website.

Caller: And are there other materials I would need to send in addition to the application
form?



Receptionist: Uh, yes. You would need to send in a ¥240, or $35, non-refundable
application fee [Uh-huh], a sponsorship form indicating who will be responsible
financially for the student while studying in our program, and a bank statement showing
that you or your sponsor has sufficient funds to cover tuition expenses and living costs
for the entire year of study.

Caller: And how can I send these materials to you?

Receptionist: You can either send the application packet by regular mail or you can
email it.

Caller: And the application fee?

Receptionist: We accept money orders, traveler’s checks, credit cards, or you can pay
online.

Caller: Alright. I think that’s about it.

Receptionist: Okay, great.

Caller: Oh, may I have your name, please?

Receptionist: Okay. My name’s Li Wei. You can just call and ask for me.
Caller: Great. Thank you for your help.

Receptionist: No problem, and please don’t hesitate to call again if you have any other
questions.

Caller: Okay. Goodbye.

Questions

7. What service does the man say their program provides?
Training in communication skills.

Student visa application.

Language instruction.

Job counseling.

oSawpy

8. What is the woman’s purpose of making the phone call?
To apply for a Chinese university.

To make inquiries for her friend.

To sign up for a course she is interested in.

To seek information about the job she desires.

oSawpy

9. What does the man say about the admission form?
Applicants can fill it out on the website.

Only full-time students need to fill it out.

It is to be submitted when the semester begins.
It indicates permission to study in the program.

oOow



10. What does the man say about the application form?
It can be accessed online.

It will be sent to the embassy.

It should be completed in Chinese.

It must be mailed back to the office.

oSawy

11. What material does one need to send in addition to the application form?
A copy of their diploma.

A letter of recommendation.

Evidence of their current level of Chinese.

Proof of their ability to finance their study.

oSawpy

12. What do we learn from the conversation about the application fee?
High.

Fixed.

Negotiable.

Non-refundable.

oSawy

Section B Video Comprehension

Directions: In this section, you will watch two videos. You will answer six or seven
questions based on each video. For each question, you must choose the best answer
from the four choices marked A, B, C and D. The videos will be played only once. You
can answer the questions as you watch the videos.

Video 1

Time for school! It’s no surprise that many of us are determined to study smarter
instead of longer, but which study tips and tricks actually work scientifically and can
help you get those perfect grades?

First step, research shows that study sessions are most effective in small short
chunks.

Instead of cramming in a ten-hour study session, it’s much more effective to spread
it out into twenty thirty-minutes sessions over a few weeks. This is because your brain
is better at encoding information into the synapses in short repeated sessions as opposed
to one large one. And this is why even learning different skills, whether it’s swimming,
tennis, or a singing lesson, often follows the same format.

And while cramming and pulling all-nighters may be a ritual, it turns out that this
is linked to the lowest grades. After prolonged study sessions, reasoning and memory
may be negatively affected after four whole days. Instead, setting up specific times in
a day, or during the week, just to study primes your brain by creating a routine, and
over time studying actually becomes easier, as your brain is trained to learn in those
moments.



And while many of us spend hours passively rereading our notes or highlighting a
textbook, studies have shown this to be ineffective. It doesn’t improve your
understanding of topics nor does it link key concepts together. It can even be
detrimental, as it draws your attention to less important information.

Flashcards, on the other hand, are proven to be excellent memory reinforcement
tools whether during your scheduled study times or during off times like a bus ride
home. It also helps to have a specific goal for each study session. Instead of aimlessly
studying, pick one aspect you’re focused on — whether it’s balancing chemical
equations or learning how to conjugate French verbs.

If you can’t explain it simply, then you don’t understand it well enough. In studies
where individuals were asked to learn a passage and then half were told they would be
tested on the material while the other half were told they would have to teach it to other
students, participants expecting to teach it did much better on understanding the main
points. When you’re expected to teach, your brain organizes the information in a more
logical coherent structure.

Of course, practice, practice, practice! Not only do practice tests put your brain in
the environment but even if you make mistakes, they help identify gaps in your
knowledge. Practice tests have also been shown to increase confidence, thereby leading
to better performance.

So where should you be studying? Research shows that having a designated sacred
spot for study that’s well equipped with every tool you might need is best. Just like
setting times, this primes your brain for studying.

Have an awesome study playlist? Not so fast!

While some studies have shown that certain types of classical music can help
improve concentration, a recent study has shown that learning with rhythmic
background noise can be detrimental to focus and those not using music fare much
better.

Questions

13. What do we learn about study sessions from this video?

It is best to study in 30-minute sessions.

Short repeated sessions are more effective.

It is better to learn skills like swimming in prolonged sessions.
Longer sessions contribute more to improving reasoning skills.

oSawpy

14. What does the speaker say about flashcards?

They bring a lot of fun to our study.

They help us focus on a specific study goal.

They draw our attention to less important points.
They prove to be ineffective in enhancing memory.

oSawpy

15. What do we learn about the participants who were asked to learn a passage and
teach it to others?
A. They showed more self-confidence.



B. They felt a higher level of anxiety.
C. They did better in understanding its main points.
D. They had more trouble in memorizing its key points.

16. What benefit do practice tests provide according to the speaker?
They can help improve our study skills.

They can help identify our weaknesses.

They enable us to learn what is beyond the textbook.

They enable us to better comprehend what we learned.

oSawy

17. What does a recent study on music effects suggest?

Classical music helps little to improve concentration.

W
A.
B. Certain types of music can affect our ability to focus.
C. Some background music can boost learning efficiency.
D.

Effects of music on learning vary from person to person.

18. What is this video mainly about?
A. Tips on improving study efficiency.
B. A comparison of various study methods.
C. The difficulties students have in developing good study habits.
D. The reasons why some students cannot concentrate on their study.

Video 2

Over the past 60 years, the amount of sugar consumed as part of the typical
Western diet has increased dramatically. Significant increases in sugar consumption
have been documented in most countries where heavily processed food has become
readily available. Surprisingly, some experts estimate that only one-sixth of our sugar
comes from desserts or foods that we think of as sweets. The majority of our sugar
comes in the form of highly processed food and sweetened beverages. Many people are
becoming aware of the need to reduce their sugar intake in order to maintain a healthy
body weight. But what many people still aren’t aware of is the fact that sugar under a
variety of different pseudonyms is added to so many foods that we don’t expect to
contain sugar, things like packaged breads, condiments, chips, sauces, and salad
dressings. In 2015, the World Health Organization released new guidelines, strongly
recommending that all adults and children reduce their sugar intake to less than 10% of
total calories consumed. These recommendations go on to suggest that a further
reduction of sugar intake to less than 5% of total calories would likely have additional
health benefits. These recommendations focus on free sugars, those that are added to
foods by the manufacturer, the cook, or the consumer, as well as sugars that are
naturally present in honey, syrups, and fruit juices. But they don’t apply to intrinsic
sugars found in whole fruits and vegetables. Because the World Health Organization
found no reported evidence linking the consumption of intrinsic sugars to adverse
health effects, the sugar that naturally occurs in milk is also excluded from that 5%.



There’s a growing consensus that we need to cut down on our sugar consumption
and yet there may be a downside to vilifying sugar the way we did with the dietary fats.
If we only emphasized the need to cut down on our sugar intake without simultaneously
emphasizing moderation and balance in our diet as a whole, we risk a situation where
fats and animal proteins are seen by the general public as free food. And the processed
food industry, again steps in and super sizes.

It’s been interesting to read the research and see the shift in attention from
treating fat as the evil nutrient to treating sugar as the evil nutrient. Now, we went
overboard on fat. It turns out fat is not as evil as we thought and saturated fat is not
necessarily the thing to worry most about in your diet. And in fact, our obsession with
saturated fat led us to promote trans-fat, which turned out to actually be lethal. So I'm
very wary of focusing all our attention on a single nutrient. Sugar’s been part of the
human diet for a very long time. It’s prized by people all over the world. We have
evolved to like the flavor of sugar for very good reasons, but we are eating too much of
it. And I think we definitely need to cut down on the amount of sugar we’re eating, but
I think companies need to disclose added sugar, which they don’t now have to do in
processed foods. I’'m very concerned that sugars being added to foods that never were
sweetened before. Things like bread now have sugar in them, and condiments of all
kinds, because if you put more sugar in a food you will sell more of it. So we need to
be conscious of it. But does it explain everything about our diet? No, it really doesn’t.

Questions

19. What does the woman say about sugar consumption?
It has risen considerably over the past six decades.
It has begun to decline in some Western countries.
Its link to obesity has been extensively researched.
Its effects on health have been well documented.

oCawpy

20. What is a major source of sugar people consume according to the video?
Fruits.

Desserts.

Fast food.

Processed food.

oSawpy

21. What does the woman say is still unknown to many people?

A moderate amount of sugar can be good for their health.

Sugar intake needs to be reduced to ensure a healthy weight.
Difterent types of sugar can produce different health effects.
Sugar appears in many foods that they don’t expect to contain it.

oSawpy

22. What level of sugar intake could bring additional health benefits according to the
World Health Organization?
A. Below 10% of total calories.
B. Below 5% of total calories.



C. Less than 4% of total calories.
D. Less than 2% of total calories.

23. What do we learn about free sugars?

They are found in whole fruits.

They naturally occur in milk.

Their consumption should be controlled.
Their health risks are often exaggerated.

oSawy

24. What does the man say about sugar?

It is not as evil as people thought.

People are consuming too much of it.

It may cause more serious health problems than fat.

oSawy

Companies should reduce its amount in their products.

25. What is this video mainly about?

Methods of cutting down on daily sugar consumption.

The effects of certain types of sugar on people’s health.

Trends in sugar consumption and recommendations on sugar intake.
The health problems caused by sugar and advice on how to avoid them.

oSawy

Part 2 Reading Comprehension (30 minutes)

In this part, you will read three passages and answer some questions after reading each
passage. You will have 30 minutes for this part.

Section A Expeditious Reading (13 minutes)

Directions: In this section, you will read one passage with four sentences attached to it.
There are some blanks in the passage and you must use the given sentences to fill in the
blanks. After this, you will answer five questions about the passage. For each of the
questions, you must choose the best answer from the four choices marked A, B, C and
D. You will have 13 minutes for this section.



The science behind how face masks prevent coronavirus

What evidence do we have that wearing a mask is effective in preventing COVID-
19?
Q26

One category of evidence comes from laboratory studies of respiratory droplets
and the ability of various masks to block them. For example, an experiment using high-
speed video found that hundreds of droplets ranging from 20 to 500 micrometers were
generated when saying a simple phrase, but that nearly all these droplets were blocked
when the mouth was covered by a damp washcloth.

But the strongest evidence in favor of masks comes from studies of real-world
scenarios. A recent study published in Health Affairs, for example, compared the
COVID-19 growth rate before and after a mask requirement was imposed in 15 states
and the District of Columbia in the US. It found that mask requirements led to a
slowdown in daily COVID-19 growth rate, which became more apparent over time.
The first five days after a mask mandate, the daily growth rate slowed by 0.9 percent
compared to the five days prior to the mandate; at three weeks, the daily growth rate
had slowed by 2 percent.

Two compelling case reports also suggest masks can prevent transmission in high-
risk scenarios. In one case, a man flew from China to Toronto and subsequently tested
positive for COVID-19. He had a dry cough and wore a mask on the flight, and all 25
people closest to him tested negative for COVID-19. In another case, two hair stylists
in Missouri had close contact with 140 clients while sick with COVID-19. Everyone
wore a mask and none of the clients tested positive.

Do masks protect the people wearing them or the people around them?

“I think there’s enough evidence to say that the best benefit is for people who have
COVID-19 to protect them from passing COVID-19 to other people, but you’re still
going to get a benefit from wearing a mask if you don’t have COVID-19,” said Peter
Chin-Hong, an infectious disease specialist.

Masks may be more effective as a “source control” because they can prevent larger
droplets from turning into smaller droplets that can travel farther.

Q27

“What you want is 100 percent of people wear masks, but you’ll settle for 80
percent,” said Chin-Hong. In a recent paper, researchers predicted that 80 percent of
the population wearing masks would do more to reduce COVID-19 spread than a strict
lockdown.

The latest forecast from the Institute of Health Metrics and Evaluation suggests
that 33,000 deaths could be avoided by October 1 if 95 percent of people wore masks
in public.

Even if you live in a community where few people wear masks, you would still
reduce your own chances of catching the virus by wearing one, said Chin-Hong.

10



Does the type of mask matter?

Q28 The best
mask is one you can wear comfortably and consistently, said Chin-Hong. N95 masks
are only necessary in medical situations such as intubation. Surgical masks are
generally more protective than cloth masks, and some people find them lighter and
more comfortable to wear.

The bottom line is that any mask that covers the nose and mouth will be of benefit.

“The concept is risk reduction rather than absolute prevention,” said Chin-Hong.
“You don’t throw up your hands if you think a mask is not 100 percent effective. That’s
silly. Nobody’s taking a cholesterol medicine because they’re going to prevent a heart
attack 100 percent of the time, but you’re reducing your risk substantially.”

However, Chin-Hong cautioned against masks with valves (designed to make it
easier for the wearer to breathe) because they do not protect those around you. These
one-way valves close when the wearer breathes in, but open when the wearer breathes
out, allowing unfiltered air and droplets to escape. Chin-Hong said anyone wearing a
valved mask would need to wear a surgical or cloth mask over it. “Alternatively, just
wear a non-valved mask,” he said.

Q29

A mnemonic that Chin-Hong likes is the “Three W’s to ward off COVID-19:”
wearing a mask, washing your hands, and watching your distance.

“But of the three, the most important thing is wearing a mask,” he said. Compared
to wearing a mask, cleaning your iPhone or wiping down your groceries are “just
distractors.” There’s little evidence that fomites (contaminated surfaces) are a major
source of transmission, whereas there’s a lot of evidence of transmission through
inhaled droplets.

“You should always wear masks and socially distance,” said Chin-Hong. “I would
be hesitant to try to parse it apart. But, yes, I think mask wearing is more important.”

Questions 26-29

A. If we’re practicing social distancing, do we still need to wear masks?

B. How many people need to wear masks to reduce community transmission?

C. Studies have compared various mask materials, but for the general public, the most
important consideration may be comfort.

D. There are several strands of evidence supporting the effectiveness of masks.

30. Where does the strongest evidence supporting the effectiveness of masks come
from?

Laboratory experiments.

Studies of real-world scenarios.

Representative case studies.

Research by manufacturers.

oSawpy

31. What does the passage say about the man who flew from China to Toronto?
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His client tested positive for COVID-19.

His client had close contact with 140 people.
He did not wear a mask as required.

He did not transmit the virus to others.

oSawy

32. What percentage of the population wearing masks would do more to curb COVID-
19 spread than a lockdown according to some researchers?

80 percent.

90 percent.

95 percent.

100 percent.

oSawpy

33. What is said about N95 masks?

A. They should be made lighter.

B. They provide the best protection.

C. They are more suitable for medical staff.
D.

They are only needed in special medical situations.

34. What does Chin-Hong think of masks with valves?
A. They may cause breathing difficulties.
B. They protect the wearer but not others.
C. They are as efficient as surgical masks.
D. They are more protective than cloth masks.

Section B Careful Reading (17 minutes)

Directions: In this section, you will read two passages. Each passage is followed by
four questions. For each of them you must choose the best answer from the four choices
marked A, B, C and D. You will have 17 minutes for this section.

Passage 1

The tradition of study abroad in the US grew out of the ‘Junior Year Abroad’
model developed in the first part of the 20th century. While a declining number of US
students still choose to study abroad for a full academic year, the trends in study abroad
are moving much more in the direction of short-term experiences. In fact, enrolment in
study-abroad programmes lasting eight weeks or less has grown by nearly 250 percent
over the past decade according to data from the Institute of International Education.

This trend towards short-term study abroad makes it clear that students’ bandwidth
for time spent abroad is narrowing. Because of this, universities have to think more
flexibly about study-abroad models. Traditional year-long, semester, exchange and
even summer models no longer cut it. People working in international education in the
US are putting a lot of effort into how to make the most out of the student experience
during short periods abroad. They are also coming up with new models that can respond
to the pressures — both academic and otherwise — facing students today.
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Some US universities are redesigning service learning and volunteer programmes,
so that they have more direct educational results (i.e., students get course credit for
doing them). Other institutions have introduced gap-year programmes, which give
students the opportunity to defer their place at college and first take part in a gap year
set up by the university. Yet other institutions have introduced freshman abroad
programmes, which take new students abroad for a portion of their first year.

Data from the Institute of International Education shows that US student
enrolment in study abroad has increased by 150 percent in the last decade.

As study abroad has grown in the US, so has the need to support it well. Many
colleges and universities rely on structures and services outside of their own institution
— usually in the form of third-party providers — to provide diverse programme options.
Over the years, this ecosystem of support has developed into a growing industry.
There’s no official data on this, but it is estimated that some 40-50 percent of US
students going abroad do so through provider organizations.

Despite this growth, the number of US students signing up to study abroad is still
very low compared with total student enrolment. It is estimated that less than two
percent of US undergraduates study abroad each year and fewer than one in ten
Americans graduate from university with a study-abroad experience.

On many US campuses, study abroad has grown outside of the academic side of
the institution. Because of this — and perhaps a variety of other reasons — the academic
value of study abroad is not always understood. It is still largely seen as an educational
‘extra’ and is not always understood by employers. Recent British Council research
also shows that the main non-academic factors motivating US students to study abroad
is to experience another culture or have an adventure. This aligns perhaps with broader
public perceptions of study abroad.

Questions

35. What trend has been observed in the US?

More and more students only want to study abroad for a few weeks.

The number of students who are willing to study abroad is declining.
More and more students want to study abroad during their junior year.
The number of students wishing to study abroad for a full year is growing.

oSawpy

36. What do some US universities do in reaction to the new trend?
Provide summer programmes for students looking to study abroad.
Give students opportunities to volunteer when studying abroad.
Bear a portion of the expense of the study-abroad programme.
Allow students to spend part of their freshman year abroad.

oSawpy

37. What do we learn from the passage about the academic value of study abroad?
A. It has been better understood by many college students and their parents these
days.
B. It is a key factor motivating students to study hard at college.
C. Itis deemed conducive to college students’ character building.
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D. It is no longer a major consideration when students make study-abroad
decisions.

38. What is the main aim of study abroad as perceived by the general public?
A. To seek independence.
B. To learn a foreign language.
C. To experience a different culture.
D. To better one’s academic performance.

Passage 2

Previous works that provide tips on how to successfully write research papers,
theses, dissertations, and journal articles have emphasized that writing is like any other
skill: it has to be developed, taught, and practiced daily. Although graduate students are
taught how to teach during their graduate education, through seminars and workshops,
Silvia laments that they are not taught how to write: “the most common model of
training is to presume that graduate students will learn about writing from their
advisors.” The same argument could be made about reading.

In previous works, readers are taught how to structure their time to facilitate
writing, how to outline their thoughts to prepare to write, and how to structure a paper
to submit to a journal. Professional academic writing, Silvia argues, is a serious
business that entails tremendous complexity, as the literature on a given topic must be
extensively covered, data carefully analyzed, and the descriptions of research methods
precisely worded. To do so, Silvia suggests, we may even have to read scientific journal
articles we do not particularly like. The act of reading, again, is treated as an activity
that is less consequential than writing.

This book is necessary because reading is often a blindly assumed and unexamined
part of the writing process, for undergraduate and graduate students alike. If writing is
learned throughout undergraduate and graduate education, as part of the honors thesis,
master’s thesis, PhD dissertation, and journal-article writing process, then, to my
knowledge, no such formal and systematic training exists for reading in the social
sciences; instead, students bring to universities — undergraduate and graduate — the
reading habits and techniques they acquired in their formative years in
primary/elementary schooling. Unlike philosophy and literary criticism, where careful
reading is taught to students at the undergraduate and graduate level, disciplines in the
social sciences tacitly expect students to already be competent readers.

With such an unexamined assumption in place, it is not surprising that advanced
undergraduates (third- and fourth-year students in institutions of higher education), and
graduate students have trouble reading critically in order to write their undergraduate
research papers, honors theses, and graduate-level texts. Rather than assuming that
students already possess the skills necessary to be critical readers, this book teaches
students — advanced undergraduate students writing research papers and honors theses,
and graduate students writing theses and dissertations — how to read so that they are
able to maximize their output in the writing process. Reading critically is an essential
skill at all levels of instruction at university.
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Questions

39. What is emphasized in previous works on how to write academic papers
successfully?
A. Writing needs to be practiced a lot.
B. Writing needs a lot of patience.
C. Writing can be self-taught.
D. Writing can be tiresome.

40. What does Silvia say about professional academic writing?
It is a serious and complex task.

It should be clearly structured.

It results from huge amounts of reading.

It requires a great many references.

Sawpy

41. What can be inferred about disciplines in the social sciences?
They demand that students should read extensively.
They do not provide systematic training in reading.
They place emphasis on students’ careful reading skills.

They do not offer reading instruction that suits students’ needs.

CSowp =

42. What is the author’s purpose of writing this passage?

A. To explain how to read journal articles in the social sciences.

B. To introduce a book that teaches how to read academic articles.

C. To clarify the differences between developing reading and writing skills.
D.

To stress the importance of academic writing skills for college students.

Part 3 Writing (35 minutes)

In this part, you will complete two writing tasks. In the first task, you will write a short
summary of a passage. In the second task, you will join in an online discussion by
providing a written response. You will have 35 minutes for this part.

Section A Written Production (20 minutes)

Directions: In this task, you will read a passage and then summarize the main points of
the passage in 80-100 words. You will have 20 minutes to finish this task.

Summer internships have long been taken for granted in one’s academic career, a
necessary step to craft the ideal resume to appeal to potential employers and graduate
programs. This expectation may seem out of grasp for many college students. The
typical attitudes surrounding summer internships ignore the many obstacles that
students face as they plan for their future.

Unpaid internships place a financial burden on students as they juggle loans, rent
and family responsibilities. These unpaid involvements seem necessary in a work
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environment that increasingly values work experience, even for entry-level positions.
Students are compelled to take on the role of a regular staff member, conducting
difficult and strenuous tasks for no compensation. These internships make up a
substantial 43% of all for-profit opportunities according to the National Association of
Colleges and Employers.

While many may view this lack of pay as a necessary trade-off to accumulate
experience and credit hours, this position ignores the reality of the opportunity cost of
such experiences. Since students have to sacrifice paid positions to participate in unpaid
internships, these opportunities exclude those from a low socioeconomic background.
While some may have support to cover living expenses like rent and food, those that
don’t cannot afford to spend their summer without earnings.

Similarly to these financial obstacles, summer internships may be inaccessible to
those that require the summer semester to complete their degree. These students may
have responsibilities outside of academia that prohibit them from taking on a full course
load during the academic year, like jobs, family obligations or chronic illnesses. In the
midst of balancing shifts, arranging childcare or attending medical appointments, these
students rely on the summer to finish their degree in a timely manner. This population
is not an insignificant one. Part-time students make up over a quarter of overall
enrollment in four-year universities.

Given these barriers to summer internships, academic institutions and the
corporate world must adopt a new outlook on summer involvement. While summer
internships may provide students with increased opportunities, they are not the sole
path to success. By holding a job through summer, students demonstrate the ability to
receive instructions from managers, commit to a regular schedule and communicate
with others in a pleasant and professional manner. By participating in summer classes,
students display a continued thirst for knowledge.

Section B Written Interaction (15 minutes)

Directions: In this task, you will read a post and two responses from an online forum,
and then join in the online discussion by writing a response to express your views. You
will have 15 minutes to finish this task. Your response should be at least 80 words but
no more than 100 words.

Post

I really need some advice on homesickness. I am leaving for college in 10 days. This is
my third year of law school and I will be 10 hours away from my family again after
finishing the second year at home due to the pandemic. I’'m really connected to my
family and I don’t want to leave them. I won’t be seeing them more than once a month
and I keep crying, thinking about the fact that this might be my last 10 days actually
living with my family. I never learned how I should deal with this. Anything that might
help?

16



Response 1

I think we all experience these feelings when we leave familiar places and people, or
experience change. I truly think your feelings will pass once you are there. Remember
it’s just one year. COVID caused a lot of people to go home and now that it’s almost
gone, it’s time to be back on campus again.

Response 2

You just take it easy. It’s not a whole year. It’s 9 months broken up with a month in the
middle for Christmas. Try to have a family member visit or you visit home once a
month. Take day or weekend trips to interesting places nearby. Meet somewhere in the
middle. Get an internship to keep busy and move your focus to someone else’s
problems. Getting a girlfriend or boyfriend always helped me the most, if I am being
honest.

Now please give your response:

Part 4 Speaking (5 minutes)

In this part, you will be given two tasks, an individual presentation task and a voicemail
task. In the first task, you will answer two questions based on a graph. In the second
task, you will reply to a voicemail. The speaking part lasts about 5 minutes.

Section A Oral Production (2.5 minutes)

Directions: In this task, you will answer two questions based on the graph shown on
the screen. You will have 1 minute to look at the graph and the questions and prepare
what you are going to say. For each question, you will have 45 seconds to give your
response.
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Number of people living in urban and rural areas, World, 1960 to 2020
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4 billion
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Source: World Bank based on data from the UN Population Division OurWorldinData.org/urbanization « CC BY

Note: Urban populations are defined based on the definition of urban areas by national statistical offices

Question 1: What information can we get from the graph?

Question 2: What are the advantages and disadvantages of living in cities?

Section B Oral Interaction (2.5 minutes)

Directions: In this task, you will respond to a voicemail message. First listen to the
voicemail, and then you will have 30 seconds to prepare and 1 minute to leave your
voicemail message.

Listen to the message from your friend about remote learning. Then, reply to the
message. In your voicemail message, you should:

(1) Comfort your friend.
(2) Give your friend some suggestions.

Now listen to the message.

Hi. It’s Li Wei here. [ recently learned that my university’s campus will remain closed
and I need to attend remote classes for the whole semester. I am a bit stressed. The
hardest part about attending college remotely is maintaining a routine and motivation.
For in-person classes, I would get dressed and have to physically be present which put
a start to my day. Now, I sometimes turn on my computer as soon as I wake up and not
give myself the mental space ahead of time to start my day. I miss everything about
school.

18
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A BEEIEFIR
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EEENEE, RATHRGET AR, BiEd: P g,
BT RHIEMATL . BIAEESFE AN — MR 2 —WRfa, (HH T & AR
AN, WA R O B R R T .

B L IRERE B T E R, AT AL R SRR R, FRAERRIR, /03 B ER A
Wb, EHGETERIGE T UK b, AEMEE, SFETR.

9/ 11



M B PR i AMMER, (B L 2 PR TR R A B SEAR R AR SCHE A o S SR S 4t
“Ymit”, M IR AZ AN DO T IR RE, IR A A LR . R, R
ZFUMAMAR L, FreA A A B0, e H B R AER .

Hsg, B82FZLREEES, B EW “BhmAE” Z5h, HETHRIN TS
570 REEHET, RN AEGE R O, MRIEREIE R RS 257 SR . R, A
AAEEAENE ;. AR K G ARER s ERindE L, 4R s
ERSHEER, WREL M, ESEitEmeAma 1.

TP IR, 7870 R TR BE ) B SRR R A B AT 38 < Je 1) % 0 70 4
B B ERAET . e, SRR KRR — =58, wRH 1 1 B A (A
ROTERE, BRATTHE ARSI D7, w8 B2 TR 2 AR, BB/ AR ITE. &
55 B RHE NI e, SRR, BN BT A 4

2. I ABESFE N — IR “fatk” ? (RO
A VIR Z GRBEiR 1

B KONEHERIRGEK:

C FNER “FiiEmik”

D PR AsFRALE %

43, KT BRI AU LR R
A S BBk BRI R
B ARSI EASF
C B o1 AT
D fEAHRERE

44. THITEANAR BT ST RE R T KRR ?
A fEB) “BRRAE” 1R

B i FIAHE T30 4%

C & EHI T

D FERIENIEE

45. RTBESFHRE AL FAIBEARR A ?
A GEFIER
B BLiHHETS
C P
D g

10 / 11



=\ fEX

(31 88, 2040
BEE R FI R R, LA EIEIE B B A R 5 A R E B E ] . TEARE R, AR

AR AN TRIE? A
HE AL T 300 FRISCE, RRIRIIZA @,

0. MiERE

(318, 20490

RE A AREF? AR D NIRRT 47 RN AT
PR B BN T 2 I BRI, R RTURREAT 3 20 PR HE %% I 1)

1/ 11



1-5 BCAAA
6-10 DACBA
11-15 BBBAD

16-23
24-33

34-37
38-41
42-45

CBDAAADA
ECFBDBAFCE

BCBA
BADA
BBCD



B AR FEERARAE B4 A YRR AN
2021 £ 11 A
—. EZREH

FRTEASEGAREREERYENER (UTERAZL) 25
BBEASEFARERETHTHRRER, SELENLEENYER SR
RS EAFSMRAT R B ), 2E2ERBEEE— S5
HERYERR SR .

PIEFRIEROTENEFENBEF IS, EUNERKALIR, XE5Y
EBEHXNRFE. BAMEZLFNIMRALR.

=, BRI

REXEGEZSELEEMEFNTENERMANMBEERESR, 8 1. %
EEENSHNERYERMIMIAMBEAREZENERL | 2. FEFZ41EHYIE
FRAFRBMITVERRERLIRIERBNEES | 3. FEZECAYIEFER
IR E# TN, HIEFFEERFRREN. FHERBMNT

1. B AR ME AR RE

(L NREARAR . MSTAE, MEEEAMERITRE.,
(2> EFEARNYEGS. WENAI, FXTEAKRBM L S,
(3 BEERNBRFEEXN BB BES .

2. BRRIEMTE

(LD N AYERE#HTO. A, H#E,
() EARFZESHTE (IR, BRTE. B#EHZEE) A4IEE#E,
(3 FMABAFIESEG . LIEE-,

. EAMERR

(L FHCPREIER, ZBPIRMEER,

(2 ZEERAYR. EHTEENUR, 27, LEFE-R
(3 FHEERERNOFAIRIT AT, LEBXEZ.
(4 SFXE B EBHATRR.



=. REEH

ZXATHE R 60 50, HBEEHAED A 100 4. FERNE. MiXEE, TEHE
AR G HMELLBIF I TR

FEFENRREHDE

EENR WAER | EENE ﬁ%gi (22)
2 YR 10 33.3
e 5% pri ] 3 10.0
Pt priE] 5 16.6 60
B priE] 7 23.4
HESRFYE TR 5 16.7
it 100

M. FRER

ARERF AT ENAERER, BB RETENFEE L2, HEMEER
AxF. BE. Bk, RRAFEA2I,

B, WERREMTTE

RENXARRENBANTE A HITEZ, BFLEHS

3

, EFEHRAE D



Bz 1 RANEHAIRR

RNEER HMIRAE ikl
SER. R, PIERE

BEAE. fUtE

FHEE. BNEE

SR E . BREINEE

TINEELIEE

B B iz

AR H)

X IZE ]

HEER. 7B

FWME—ERE

HERRTENE, BRE
HUE MEMNEBAREEZUNIE
o

THE=

EFRBEALH . B

i o

E Eizs)

ZEE. AmRE. B

AREsINER A UERREETE

DESKE

FEDER

AWM. IR

ol

HeE

MMEEET LKA TR EREBETEETE

M EEFIEE R

ETHE

METIEERE

Y EE T IEEEAMMNETEE

iyl CEGETS
=0

= IRz, fEIEHREN

5] EEIRENAEE S

5 B




i3
]

FRESRN. B

HAR RO RZ

TR, HRER, EIER

BEERREE

KEEIE

IER

ZEYUNT

e

DT RMET EE

SHORESE

HERRALEER

WS FEAR

TR

ERTERARE

PNFE—EERNE

POREIEES R E: DINAE

MhEE_EERNA

k& &

BErE. BB

ke USSR NN

FECER

BB

B E. Bin%k

B 5H B

BHSHEEENRR

B AR 1A

FEG TS

B

bR E 1

BB

REXKE BB

I, BIK

B A AR

HYREE

B S Wih

BRNSRE . BBE

Bsh 3SR R 1R

AZSprre LR SR EE!

(2PN

CR ARV e

32 B




TE=E

5Bk
T4
% AR, TR
EL T 2
x -
s M
25
EFEET
EE
RN WRET R
P e
RS
ET RN,

ERMNRET. #lRE




b3 3258 KA E R AR A 48 A A PR 1A
(F:5)
SJTU International Undergraduate Entrance Examination

(Physics sample exam papers)

— B85 (HE20%, BNE3 H. FNNERBFE N ERIEDTD
I. Single Choice problems (3 points each)
1. WA BT ] DA A B 3R 0 kgm?s2?

Which unit can be expressed in base units as kgm?s2?

A) £E joule
B) &1 newton

C) maHT+ pascal
D) F4F watt
2. RINTBURHE TC 2R AR S (P BT 26 2

What are the particles emitted by the spontaneous radioactive decay of an atomic nucleus during
the process of beta decay?

A) o
Alpha particles

B) Ji T
Positrons

C) TR
Neutrons

D) HTi
Electrons

3. WK, EPBRIER AR, HERER. MR RS R AR AN, RPEH

A clock works normally, Among the angular velocities and periods of hour,
minute and second hands,
A) AR, F&EK

Both the angular velocity and period of second hand are the largest;
B) MR, JMEN

The angular velocity of second hand is the largest, while its period is the smallest;
C) MR/, FMIHRK

The angular velocity of second hand is the smallest, while its period is the largest;
D) fd /N, AR

Both the angular velocity and period of second hand are the smallest.




4. W, BREN m BT o e e R E R, AR KN

A frictionless pane is inclined at an angle a to the horizontal, as
shown. A block of mass m is placed on the plane and allowed to
slide down. The magnitude of normal force exerted on the block o

by the plane is
A) mgsina
B) mgcosa
C) mgtana
D) mgcota
5. WL ZMWIIRIRE—EZizsh, A BV s— K,
Two masses, a and b move along a straight line. Their dependencies of displacements on time
are shown in figure. Which of the following statements is true?

A) W OAE N ZIHHE
They meet at time #;
B) . Z1E W ZIAHEE s
The distance between a and b at time ¢ is So;
C) WHPER/NT LR
The magnitude of velocity of mass a is less than that of mass b;
D) HREIEE). LHniEizs)
Mass a slows down while mass b speeds up.
6. WA LR — > FU ) HELAT Y R 2 7

Which diagram shows the pattern of the electric fied lines due to a negative point charge?

~V

A B C D

7. GBI RISEN I o B, WZBRAE s RITIEEARN 3s AR5 A

The graph shows the time dependence of velocity of a mass. Its o/mes]

acceleration at the end of first second and velocity at the end of third

second, respectively, are !
A) 4m/s?, 4m/s i
B) 2m/s?, 2m/s 0 2

N

t/s
C) 2m/s?, 4m/s
D) 4m/s?>, 2m/s

8. — A IS, PRI

An object moves with simple harmonic motion. The acceleration of the object is



A) FH
constant;
B) SRR RO HI T )
always directed away from the center of the oscillation;
C) fEYRBNH LR K E
a maximum at the center of oscillation;
D) £ B B IRaN 0 AR B K AE
a maximum at the extremes of the oscillation.
9. I B iy LI Dy e Y ey R S AR AL ?
Why are high voltages and low currents used when electricity is transmitted over long distance?
A) W] 5 i
Cables can be closer to the ground
B) HL A IR VRS A
Electrons have a greater drift speed
C) b 1 RER AR
Energy losses are reduced
D) HLZH HEBH B> T
Resistance of the power lines is reduced
10. X A1Y WABLERFFEIREIIRE, X AU 4m?, 1Y 80N 6m®, EA1#0aA [F)—Fh
A X LSRN 100Pa, 1Y P HIEMERA 50Pa. WA & ATHERE THIE)S,
wJa s A2
Two containers X and Y are maintained at the same temperature. X has volume 4m?® and Y has
volume 6m>. They both hold an ideal gas. The pressure in X is 100Pa and the pressure in Y is
50Pa. The containers are then joined by a tube of negligible volume. What is the final pressure
in the containers?
A) 70Pa
B) 75Pa
C) 80Pa
D) 150Pa
11.P FI'S Je—RiT 28 B 5| 75550 ERM s, Q AR 2R BZRIT 2 b 5] 11554
BRI AL SIS K TR B — N s
P and S are two points on a gravitational equipotential surface P
around a planet. Q and R are two points on a different gravitational  ,» .-
equipotential surface at a greater distance from the planet. The [ s
greatest work done by the gravitational force is when moving amass .
from o Sy
A) P FE S .. L
Pto S
B) Q #| R
QtoR
C) R Z P



RtoP
D) S #| R
StoR
12, R, HRRS W A IE R S Oy 12V IR M o, R P FE 2 AN
it EAE RS R AR Y 20Q, HLBR I TH O AT SR AL AR Sy HL s, A b S VS
e
The diagram shows a potentiometer and a fixed resistor connected across a 12V battery of
negligible internal resistance. The fixed resistor and the potentiometer each have resistance
20Q. The circuit is designed to provide a variable output voltage. What is the range of output

voltages?
fixed
resistor
20Q
Output
A) 0-6V
B) 0-12V
C) 6-12V
D) 12-20V

13. ISy 300Hz FIAT BB N REER, GEBAHLBEIE Y 1.5m., ATPMEE N Z

/1>2

Two progressive waves of frequency 300Hz superpose to produce a stationary wave in which
adjacent nodes are 1.5m apart. What is the speed of the progressive waves?
A) 100ms™!
B) 200ms!
C) 450ms’!
D) 900ms!
14, NEERREREAAR R TR ARALIER, WA RIRERE 7 v RS ?

The schematic below shows how energy is transferred in a refrigeration system. Which

statement explains why work is an input into this system?
e =)

. J

A) ORI AR AR B IARE 7 B

Work is needed to move thermal energy against a temperature gradient




B) /bt i 1 1 Hh B REA R B T A )

Work is needed to reduce the amount of thermal energy lost during transfer
C) ThAI TR A e (1 e B 2 PR IR R S TR

Work uses energy from the cold reservoir to reduce the temperature of the system
D) DRI PR N AE B 25 1IN e vl B4R PR A

Work adds energy to the cold reservoir to increase the heat flow to the hot reservoir

15, SR M A TR — A9 R, IBEBIEET 20em, TR SUAERE BIBLT Sem

b TR 2
The diagram below shows how a concave mirror creates a real image of an object. The object
is 20cm from the mirror and the image appears at a distance of Scm from the mirror. What is
the focal length of the mirror?
* 0
—
20cm
A) 2.5cm
B) 4cm
C) 25cm
D) 40cm

16. WA NI — B W B LA Oy (R BE RSP, el v& i (e O, g 2B
AR E I B b (112 B [a] 2

A mass is thrown horizontally off a building at velocity 770 . As it touches ground, the velocity

o

is 5t . Assume air resistance is negligible. Time which the mass takes to reach ground is given

by

A) U -7
g
B) 0, -0,
2g
5 S\1/2
C) (Ut - UO)
8
1/2
o) (-03)
2g

17. BRI o SRR B LIz, Gl —BOra], BRifpEEN o, HEERRER
Av, NI
A particle moves in a straight line with a constant acceleration a. After some time, its velocity

reaches the value v, and the change of velocity is Av. Which of the following statements is true?

5



A) a5 v J7m—EM A
The directions of a and v; must be the same;
B) a5 v il —EM&X
a must be in the opposite direction of vy;
C) a H5Av Jra—EH
The directions of a and Av must be the same;
D) a H5Av Jil—EMKR
a must be in the opposite direction of Av.
18. W&, JFEF RIS E S EAR KR, BB T ERRUE, AR
TREAE T . REFARREAE, ZISHK IR W R . RERIRE NS
RSB G R (FERE RS AT 7D
A glass tube is closed at one end and is immersed vertically in a big bath of
mercury, as shown right. Air with certain mass is closed in the tube. At beginning,

the liquid level inside the tube is higher than the level outside. Keep the air

temperature constant and push the tube down. Which diagram correctly describes
the change of states of air in the tube during the process (arrows in the diagrams represent the

directions of the changes) ?

p p p p

4

0 7ae 0 0
A v B C D v

<v
<V

19. Wi, AKPHELER BTN —%BIH%, AL BRI EMW . — S iR
R AERT, WEREIFR A [ B eI nEzsh. WA A 2B, Hidgsm&E

Diagram shows a horizontal line representing an electric field line. A

p OO

and B are the two points on the line. A point charge with negative ¢
charge begins to move from A to B with constant acceleration.

Which of the following statements is true?
A) BWHER, J5 A A
the magnitude of electric field increases from A to B and its direction is to the left;
B) fRFFAAZ, TrlalfE
the magnitude of electric field stays unchanged from A to B and its direction is to the left;
C) BHHGK, Timk
the magnitude of electric field decreases from A to B, and its direction is to the right;
D) fRIFAAE, Jimlat

the magnitude of electric field stays unchanged from A to B and its direction is to the right.

6



20. —FUTETEMORNT x BT AL RE, B a2 r=1s BRI, B b RIEIRS I AL
BEI IAZAL I B G, B b HiA I HRED B ST RE2 1 a iy T

A simple harmonic transverse wave is

. . . y/m y/m
travelling in the medium along P
negative x-direction. The waveform at O|\1/2 3AS5/67 8x/m T3 T|OINZ 345 g

t=1s is shown in Figure a. The time a b

dependence of displacement of a point mass in the medium is shown in Figure b. This point
mass may be located at

A) x=0 K1) A

x=0;

B) x=1m Abf5 55
x=1m;

C) x=2m AL A
x=2m,;

D) x=3 m AbFJi A3
x=3m

Z. RIUAFES (108, /84 5. BIERE-NEMREDTD
I1. Single Choice problems (4 points each)
21. . WS IT L ARSI U B R ETSCE, P BOKARAE B P — B BEAE R
AR A Tt
A U tube of uniform cross section is placed vertically, as shown in diagram. Air is

closed in the tube by two mercury columns. To increase the length of air column, we
should

A) BRI AUE
increase the air pressure of surroundings;
B) /NN AUL
decrease the air pressure of surroundings;
C) fE U JEA& I A B N KR
add mercury into the left-hand side of U tube;
D) 1£ U B 1A B A KR
add mercury into the right-hand side of U tube.

22. ARTHHBEH M T, ERREASHNEE 7. CHESHAETREN £
=—544¢eV, ABTHRISEEWE, ERATIIRERIET

E, 0
SR TR, AR S TR R R E 34
Singly-ionized helium (He") is a hydrogen-like atom. The energy E -13.6eV
of ground state of He* is E1=-54.4eV. Its energy level diagram is
E, -544 eV

shown right. Of the photon or electron with energy listed below,
which can NOT be absorbed through the transition from the ground state of He* ?

A) 428 eV(ET)
photon with energy 42.8 eV;



B) 43.2eV(HT)
electron with energy 43.2 eV;
C) 41.0 eV(HT)
electron with energy 41.0 eV;
D) 54.4eV(OET)
photon with energy 54.4 eV.
23. a. b Al c =AMHTHUNER, e, a AT b AHEFFF, b Al AHEMRS. T

There are three electric charges a, b and c. It is known that the charge of ¢ is negative. a and b
attract each other, while b and c repeal each other. Which of the following statements is true?
A) a fil b B EH
The charges of @ and b are positive;
B) a 1 b ¥
The charges of a and b are negative;
C) aifafE, bTIER
The charge of a is negative, while the charge of b is positive;
D) aiiE#, b
The charge of a is positive, while the charge of b is negative.
24. Wi, PSR Fis Fa BOR/MESE . PRI 0 I\ 607IZ T8 K 21 120° K I /2 A,
a7
Magnitudes of two concurrent forces remain constant, as shown

right. With an increase of the angle & from 60° to 120°, the A
magnitude of resultant force R

A) BEHR
monotonically increases;
B) B/
monotonically decreases;
C) Jetl KJa i/
first increases and then falls;
D) UNEE DN

first decreases and then increases.

o
0

25. B a M b RSB AL T PN EA SRS BTE SR (SR Mgaiiad
OEZ) i, REMOER (L2 MAEFERLRE (BL) M. THURIERKZ

Anideal gas is taken through two cycles shown in Figure a and b. In Figure a, the cycle consists
of process A (solid line) and adiabatic process (dash line). In figure b, the cycle consists of
process B (solid line) and isothermal process (dash line). Which of the following statements is
true?



p p
0 % ’
Ea 0 &b 4
P e \\\isothermal
0 0
Fig.a Fig. b

A) . PRI RER IR A
The heats of both processes A and B are released;
B) M. LR
The heats of both processes A and B are absorbed;
C) W, Ll PRk
The heat of process A is released, while the heat of process B is absorbed;
D) Hd A, LRI
The heat of process A is absorbed, while the heat of process B is released.

26. BB I A n=1.50 FBIEHIR, AP R 10.0cm, MELEK OKH
Pt Ehy 4/3) i AERE N

A thin lens is made of a glass of refractive index #»=1.50. Its focal length in air is 10.0cm. Its
focal length in water of refractive index 4/3 is

A) 10cm

B) 40cm

C) 30cm

D) 20cm

27. AR R ITAZ THON 3, S RA U, A B ARy 1243 4. U 6g
AR ZERL 50 S, IET T HARE dh ER 20

The nucleon number of isotope of hydrogen, tritium, is 3. The half-life of beta decay of tritium
is 12.43 years. If you start with 6 grams of trittum, how much will remain after 50 years?

A) 0.3g

B) 0.37g

C) 0.75g

D) 1.5¢g

28. K, EWRTATE SN, BT A REER LM L, B I>h, ¥
PRI S35 IR R AN 3 Ry, WU 52

Two parallel wires carry currents, /1 and /> (/1>1), which are going in the
opposite direction. The forces exerted on wires 1 and 2 are F; and F>, h b

respectively. Which of the following statements is true?



29.

30.

A) MEWRE], H Fi>F
Two wires attract each other and F'1>F7;
B) MEHF, H F>F
Two wires repeal each other and F1>F>;
C) MEWS!, H Fi=F,
Two wires attract each other and F1=F3;
D) HMEHF, H Fi=F>
Two wires repeal each other and F=F>.
e, RS ay b PAT R RBHIIANAS . AV SRR AS R T AR S,
In the circuit shown right, the emfand resistances of two light bulbs remain '_r
R
-

constant. If the slide piece of slide rheostat moves from right to left,
A) a. b ST

two light bulbs become brighter; R
B) a. b FATHIALI; °

two light bulbs become darker;
C) a I3, b ATAL

light bulb a becomes brighter, while light bulb » becomes darker;
D) a ], b TR

light bulb a becomes darker, while light bulb b becomes brighter.

REE L a. by ¢ ZAKAE KT T, e EMmEEE, B E =TT A

Fefilo a by ¢ =P, A R EE A, o SEPAOECSE R, WEMZ BT 7

ol a

A frictionless circular ring is hung on three steel nails in the vertical wall,

as shown right. Ring contacts with three nails. The nail a is located at the

top of ring, while ¢ is located on the same horizontal plane with the center

of circle. Which nails exert elastic force on the ring?
A) HRERA afbfy

Maybe only the nail a exerts a force on the ring;
B) "HEAH a. b LA

Maybe only the nails a and b exert forces on the ring;
C) —ERA b, c A

Certainly only the nails b and ¢ exert forces on the ring;
D) a. b, ¢ =“Ab—EHAH

Certainly three nails exert forces on the ring.

10



b A2 R E PR AR R A IR RS A
(H%)
SHER

F—Way (FE 207, BE3 5. BIBERE—NIERIZN)
I. Single Choice problems (3 points each)

I. A 2. D 3. B 4. B 5. C
6. A 7. C & D 9. C 10. A
11. C 12, A 13. D 14, A 15. B
16, C 17. C 18. A 19. B 20, A

Z. RIUAEE (108, §/0E4 5. BOBERE-DEMIETD

II. Single Choice problems (4 points each)
21. B 22. A 23, A 24. B 25. C

26. B 27. B 28. D 29. D 30. A

11



B R FEEGRARAE B AR TR T AN
(2021 £ 11 A)
—. ZREH

HFEERANEERE RFRRMNRANAENARNEEFREER
JERHNER. EEXBAFEFRAREBEZREEREZN (U TEREAE
) BALEBRBAFERARAEBEMATHNEREL, SEEAEEEE
EEEEH-—FSEZIMUEBORFIR, K. BEANITE, THRELRGRE
REFRCNUSEMT ARFRAEREMT. ARFIESREAHTE

=, BRI

AERTELESEENRFEMMIR. BEARKE. BABE, WEEMNEF
BEAXIARE BIBEMNEE . AR ENE D ELEISIEN.

1. BFEMMR S EABRE

(LD ERSEREVSEHFTERHEEE. FESRE. BE50. £iE
B8 SR gT. ARSJUTHEMER,

(2) BRES. WM. R Bk, HFEE, WERE. X, Zit. &3,
BREES. DRI, nBEEEFEARFEAL  ZRLE. 217,
Kb, AR, ARk SEUR. BEYS . SN SEAREET X,

(3) BRB—ENHNATBHATITE. (ERMEIE  BREFERE. RE
URXFIES. AFIES. FSIEE zEd T RNE AR,

2. BFHREN

EBINBEXRS=EERANHER, SEBFNRANR. TEEBHENEE
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(Mathematics sample exam papers)

F—#a: THEFEFENE—NERER EE3I D, #£4295)

Section 1: The following problems have one and only one correct answer.
(3 points for each, 42 points total)

1. WES A={1,24},B={245}, Wl AnB=( ).

Ifset A=1{1,2,4},B=1{2,45}, then AnNB=(C ).
(A {24 B {1,245} (© {13 D {1,5}

2. HHly= (x—1)§+(4—x)‘3 e gy ¢ D .
The domain of the function y = (x — 1)§+ (4—x)_% is C ).
(A [1,4)  B) (—»,1) (O [4,40) (D) (1,4]

3. FHIaRAH, EMRE C D .

In the following formulae, the one that must be correctis ¢ ) .
(A) cos2x =2cos?x—1  (B) cos2x = 2sin?x — 1

(C) sin2x = 2cos?x—1 (D) sin2x = 2sin?x — 1
4, EmAEELEH. BEEHZL:2x+my+1=05H%l,:y =3x —1¥1f7, Mim= C ) .

Let m be a real number. If line l;:2x + my + 1 = 0 is parallel to line [,:y = 3x — 1, then

m=(C ).
2 2
(A —= B)= 6 (D -6
3 3
5. WPH ERIsh AP BESFQR0MIEEETPREIHLx + 2 = 0/IEE, TS PHIEL T
A C ).

If the distance from moving point P to point F(2,0) equals to the distance from P to the
straight line x + 2 = 0, then the trajectory equation of P is ( ) .
(A) y2=8x (B) y?=-8x (C) x2=8y (D) x2=-8y

6. FHIRRHh, FEHE U PR ISR RS (D .

In the following functions, the one that is decreasing in its domainis ¢ ) .



(A y=2—x (B) y = cotx ) y=x2;

= M y=x

7. FALEmh, EMRE C D .
Among the following options, the correct one is () .
(M) y=x*+= Fl y=logy(x + Va2 +1) HRAEH
y=x3 +§ and y = log, (x +VxZ + 1) are both odd functions

(B) y =x3 +§ EFFEREL By =logy(x + Va2 + 1) AZRAFEREL

y=x3+ % is an odd function but y = log, (x +VxZ + 1) is not an odd function

(C) y =log,(x + VaZ + 1) RAFEREL H y=x° +§ T2 R

y = log, (x +Vx2Z + 1) is an odd function but y = x3 + % is not an odd function

(D) y=2x3 +§ My =logy(x + VxZ + 1) ¥IAZAFREL

neither y = x3 +§ nor y = logz(x +VxZ + 1) is an odd function

8. O {a,) REZEHH, H a, =12,a3=18, ] ag= ( ) .

Given that {a,} is an arithmetic sequence, and a, = 12,ag = 18, then ag = ( ) .

(A) 15 (B) 6V6 (C) 30 (D) 216
9. FHEE f(x) MREE f1x)=x% (x>0), N f(4)=C ).

If the inverse function of f(x) is f~'(x) = x? (x > 0),then f(4) = C ) .
(A) 2 (B) -2 (C) 16 (D) —16

10. arctan (tan%n) =(C ).

T T 51 51
(A —— (B) — ) —— (D) —
6 6 6 6

1 BAWEE T S+L =1 @—RAR(-2v3,0). Ea=2b, Mb=C ).

Let (—2\/§,0) be one focus of the ellipse T : z—§+i—z =1.If a=2b,then b= ( ) .
V60 12

(A 2 (B) — (C) 4 (D) —
5 5



12. #a, b YHIESLHE, Wa+b<2” B“a?2+b2<2” ) C ).

Let a,b be positive real numbers, then statement “a + b < 2” isa () for statement “a? +
b? < 2”.
(A LEAEAEFE I A

necessary but not sufficient condition
(B) FerH AR E AT
sufficient but not necessary condition
(C) BEAEFE D AR L B AF
neither sufficient nor necessary condition
(D) 7 HAb B4
sufficient and necessary condition
13. F#sin(2x +3) HSHE ( ) .

The derivative of function sin(2x +3) is ¢ ) .
(A) 2cos(2x+3) (B) cos(2x+3) (C) —2cos(2x+3) (D) —cos(2x + 3)

14. sk y=x3+3x+1 &S P(0,1) ML FREE ( D .

The tangential equation of curve y = x3 + 3x + 1 atpoint P(0,1) is ( ) .
MD3x—y+1=0 @B x—-3y+3=0 O3x+y—-1=0 MHx+3y—3=0

FIED: THEBFERXE—NERER EF4 2, #£489))

Section 2: The following problems have one and only one correct answer.
(4 points for each, 48 points total)

1 1
15. AKX — <= WfEsEN ¢ ) .
x-2 X
1 1
The solution set of the inequality —— < —is () .
x-2 X
(A) (0,2) (B) (1,3) (C) (=o0,—1) (D) (2,+00) (E) (—1,0)
16. CHIZEHEIa W ET a; =1, At g =2, W{a, }WIHT 8 WA Sg= C ) .

If the first term a; of the geometric sequence {a,} is 1, and the common quotient q = 2,
then the sum Sg of the first 8 terms of {a,} is ¢ ) .
(A) 255 (B) 127 (C) 63 (D) 511 (E) 512

17. XS a,b g 229 =49+b =3 il q= ( ) .



18.

19.

20.

21.

22.

23.

If real numbers a, b satisfy 22472 =49*? =3 then a= ( ) .

(A) log,3  (B) logy,3  (C) logz2 (D) logz4  (E) log,2
CAl a,b,1,2 KGR 3, PO 4, W ab=C ) .

Let the median of a,b,1,2 be 3, the average of a,b,1,2 be 4, then ab= ( ) .
(A) 36 (B) 22 (C) 30 (D) 40 (E) 42

CAA P EMZ C:2x? —4x+2y2—12y =5 b, M Q fFHZ x+y+3=0
B, WEP M Q ZIE SRR |PQ| ME/AMER C D .

If point P is on the curve C:2x? —4x + 2y? — 12y = 5, and point Q is on the line x +
y + 3 = 0, then the minimum distance |PQ| between points P and Qis ( ) .

2
MDAV2 (B g 01 (D) 0 (E) 2

WEH z=V3+1, Hb i REHRL, W 2°=C ).

Let complex number z be defined as z = v/3 + i, where i is the unit of imaginary numbers,
then z°= () .

(A) —16V3 + 16i (B) 16v/3 + 16i (C) —16v3 —16i

(D) 163 — 16i (E) 16V3 + 16V3i

FEFTAPIALE, MBI A8 AR ¢ ) .

In all two-digit numbers, the number of those which the sum of its ones digit and its tens digit
is an even numberis ¢ ) .
(A) 45 (B) 25 (C) 40 (D) 20 (E) 50

S x,y WA sinx cosyzg, siny cosx =§, M cos2x = C ) .

If real numbers x,y satisfy sinx cosy = g, siny cosx = %, then cos2x = () .
3 3 4 4 2
A —= (B) = (C) = (D) —= (E) =
5 5 5 5 5
=ArFEEE gk . B AETERITH LR, R NSRRI E, WA BHACEPIA
WEEERITH MR ¢ ) .

Three students participated in high jump, long jump and shot put competitions. If everyone
chooses two of these three items, then the probability that there are exactly two people choosing

same itemsis ( ) .

2 1 2 1 1
(A) = (B) = ) = (D) = (E) =
3 3 9 9 6



25.

26.

sin LPF,Fy

= Il =
SnZPRE, 2, Wl cos 2F,PF,= (C ).

2
Let the foci of the hyperbola C : x% — y? =1 be F; and F,, respectively. If point P is on

sin £PF, F
C, such that ————=2—=+

= 2,then cos 4F,PF, = ( ) .
SlnLPFlFZ

1 1 1 1 1
(A = (B) —5 ) - D) —= (B) =

4 2 6 5 3
% P—ABC #FKN 6 WIEWHA, & D,EF il =fM% APAB APBC APAC
(L, M =HsHE P — DEF MEFR N C ) .

Let P — ABC be a tetrahedron whose edges have a length of 6. If points D, E,F are the
barycenter of triangles APAB APBC APAC respectively, then the volume of the trigonal
pyramid P —DEF is ( ) .

4+/2 2 32
D Tf (B) g © T\/_ M) 2vZ (B) 42

B {an}, b}, A {cp} WAL WAL EBHn, apy=(-D"aZ+1) , b, =
AnQni1, Cp = COSAy. FHPRHIHIEMRRZE ¢ D .

Let sequences {a,},{b,}, and {c,} satisfy: for an arbitrary integer n, a,,; = (—1)"*(aZ +
1) , b, = a,a,4+1, C, = COS ay, then the one that must be correct in the following statements
is C ).

(A) {b,} & HEES

{b,} is a decreasing sequence
(B) {bn} A&HLIH G £

{b,,} is an increasing sequence
(O {cn} &I HIEH S

{c,} is anincreasing sequence
(D) {a,} 2 HIF L ES

{a,} is anincreasing sequence
(B) {cn} RHIHHHAES

{c,} is a decreasing sequence



F=#a: THEAFFENE—NERER EES D, #£109)

Section 3: The following problems have one and only one correct answer.

27.

28.

(5 points for each, 10 points total)

B AB,C R=SMIE ABC W=ANTIA, TR A 164 |BA - ABC| = 2|BC|.
% |BC| =1, M=% AABC AKIIR/MEN C O .

Let points A, B,C be the three vertices of triangle AABC, such that for an arbitrary real
number A, the following always holds true: |ﬂ— AR| > 2|ﬁ| If |ﬁ| =1, then the

minimum value of the perimeter of the triangle AABC is () .

(A 14+v17 B 1+vV12 (© 1+vV7 D) 1422 () 1++27
CENSEE x,y,z W2 x2+y2+22 =1, | xy+2yz WERKMEN C D .

If x,y,z are all real numbers, and x2 + y? + z2 = 1, then the maximum value of xy + 2yz

is C ).

5 2 3 1
e ®m2 02 m2 @l
2 2 2 2
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